NATIONAL POLICE ACADEMY SECTOR H-11, ISLAMABAD

Islamabad, the

18 April, 2023

EVALUATION REPORT (As per Rule 35, Public Procurement Rules, 2004)

1. Name of

National Police Academy

Procuring

Agency

Single stage one envelope

Method of Procurement

Procurement Title of

"Supply of Uniform Articles for ASPs at NPA"

Procurement

4. PPRA Ref. No.

TS506392E

5. Tender Inquiry

No. 11/2022-23

No.

3.

7.

6. Date & Time of

12.4.2023 at 1100 hours

Bid Closing

12.4.2023 at 1130 hours

Date & Time of bid Opening

Three (03) as mentioned below

8. No. of Bids Received

9. Criteria for Bid Evaluation along with compliance report of the firm(s) is as under:

S #	Description	M/s Saleem Trading Corporation	M/s Faisal Enterprises	M/s Oxford Trading Corpora tion
(a)	Envelop has been sealed as per instructions.	Yes	Yes	Yes
(b)	Rate on the enclosed list as per given specimen at Annex-A.	No	No	Yes
(c)	Availability of written consent as per specimen at Annex-B.	Yes	Yes	Yes
(d)	In case of same price for the supply/work/services, selection will be made on the basis of experience of the firm and warranty period.	N.A.	N.A.	N.A.
(c)	Copies of NTN/GST certificates whichever applicable.	Ycs	Yes	Yes
(t)	Call deposit at the rate and shape as specified.	Ycs	Yeз	Yes
(g)	Certificate as per Annex-C. i. Ownership of firm; ii. Not declared blacked listed; iii. Having read & accepted all clauses of bidding documents; iv Authorize person, if any, to deal with NPA.	Yes	Yes	Yes
(h)	Copies of valid CNIC of owner/representative.	Yes	Yes	Yes
(i)	Availability of broacher/pamphlet of the item/work/services to be supplied/carried out.	Yes	Yes	Yes
(1)	Selection of bidders will be made on lowest evaluated rates.	09	00	- 21
(j)	Online verification of bidder on Active Taxpayer's list of FBR.	Yes	Yes	Yes
(k)	Valid Address, Telephone & Mobile No. of the bidder.	Yes 🚉	No	Yes
(l) (m)	1 / 1/ - in andres in the relevant	a) No com	15. No mas	Yes Yes
(n)	Contract on judicial paper not less than Rs. 50/- as per specimen of contract at Annex-D.	No	No	Yes

10 ma 20427.

261

Page 1 of 6

(0)	Integrity pact on letter head of firm as per specimen of contract at Annex-F:	No	No	Yes
(p)	Inspection of retail Outlet/Warehouse of the bidder.	Yes	Yes	Yes
	Selection of departmental Purchase & Inspection Committee which shall be considered as key factor.	No	No	Yes
(r)	Bidder may add additional documents in support of its bid.	Yes	Yes	Yes

10. Out of the Three (03) firms who obtained the bidding documents, Three (03) preferred to submit their bids which have been evaluated as per evaluation criteria. Detail is as under:

Name of Bidder	Items	No.	# 1 E	Marks		Evaluate d Cost	Rule/Regulation/SBD/ Policy/Basis for Rejection/ Acceptance as per Rule 35 of PP Rules, 2004
			Technical (If applicable)	Financial (If applicable)	Combine d Marks		9.0
M/s Saleem Trading Corporation	Uniform (Grey Shirt & Pants)	60	Single	N/A e stage one env	elope	4,620	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Peak-Cap with Badge	30				2,994	2 nd Lowest
	Beret Cap with Badge	30				574	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Name Plate	60	1			174	2 nd Lowest
	Arm Badge (NPA)	60				414	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Pakistan Flag	60				294	3 rd Lowest
	Shoulder Badge	60				74	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Ranks	60	1			274	2 nd Lowest
	Stick	30				1,144	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Jersey (Black)	30	1			4,224	2nd Luwest
	Blue Socks	120	1			344	2 nd Lowest
	White Socks	60	1			334	2nd Lowest
	PSP Tie	30	1			644	2 nd Lowest
	PSP Scarf	30	1			524	2 nd Lowest
	Track Suit	30				4,244	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	T-Shirt	30				1,022	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Polo Shirt	30				1,244	2 nd Lowest
	Joggers	30	e in a second			4,444	2 nd Lowest
	Plume	30				339	2nd Lowest
	Shoulders with Ranks	30				664	2 nd Lowest
	Oxford Shoes (Brown)	30				9,974	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost



	DMS (Leather) Brown	30	7	13,244	2 nd Lowest				
	Leather Belt	30	5 5 6 ee	4,974	2 nd Lowest				
	(Brown) Horse Riding Gloves (Brown)	30	1.00	2,644	2 nd Lowest				
	Horse Riding Crop (Brown)	30		2,644	2 nd Lowest				
	Horse Riding Helmet	30		3,644	2 nd Lowest				
	Horse Riding	30	7.0	29,794	2 nd Lowest				
	Horse Riding (Breeches)	30		3,944	2 nd Lowest				
	Blue Patrol	30		33,450	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost				
	SD (Complete in all respects with cloth, stitching buttons, badges, ranks, medals, nume plate, flag, arm badge, tie &	30		42,244	2 nd Lowest				
M/s Falsal Enterprises	shirt) Uniform (Grey Shirt & Pants)	60	N/A Single stage one envelope	5,650	3rd Lowest				
	Peak-Cap with	30	Single single sin sin sin	3,122	3 rd Lowest				
	Badge Beret Cap with	30			Not quoted				
	Badge	60			Not quoted				
	Name Plate Arm Badge	60			Not quoted				
	(NPA)	(0)		97	2 nd Lowest				
	Pakistan Flag	60			Not quoted				
	Shoulder Badge				Not quoted				
	Ranks	60			Not quoted				
	Stick	30		4,650	3rd Lowest				
	Jersey (Black)	30		4,050	Not quoted				
	Blue Socks	120			Not quoted				
	White Socks	60			Not quoted				
	PSP Tie	30			Not quoted				
	PSP Scarf	30		4,950	3rd Lowest				
	Track Suit	30		4,930	Not quoted				
	T-Shirt	30			Not quoted				
	Polo Shirt	30			Not quoted				
	Joggers	30			Not quoted				
	Plume	30			Not quoted Not quoted				
	Shoulders with Ranks	30	88 s = 2 n s s		Not quoted Lowest				
	Oxford Shoes (Brown)	30		10,350	3rd Lowest				
	DMS (Leather) Brown	30	production to	13,450	3rd Lowest				
	Leather Belt (Brown)	30		4,999	Not quoted				
	Horse Riding Gloves (Brown)	30	al result	i discontin	Not quoted				
	Horse Riding Crop (Brown)	30	V te de		3rd Lowest				
	Horse Riding			6,500	J. LJOH OG				

L mest

Q

	Horse Riding Shoes	30		29,444	2 nd Lowest
	Horse Riding (Breeches)	30			Not quoted
	Blue Patrol	30	1		Not quoted
	SD (Complete in				Not quoted
	all respects with				
	buttons, badges,	30	*		
D. 9	ranks, medals, name plate, flag,				
700	arm badge, tie &				
M/s Oxford Trading	Uniform (Grey Shirt & Pants)	60	N/A Single stage one envelope	4,650	2 nd Lowest
Corporation	Peak-Cap with Badge	30		2,290	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Beret Cap with Badge	30		580	2 nd Lowest
	Name Plate	60		145	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Arm Badge (NPA)	60		790	2 nd Lowest
	Pakistan Flag	60		95	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Shoulder Badge	60		185	2 nd Lowest
	Ranks	60		190	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Stick	30		1,190	2nd Lowest
	Jersey (Black)	30		3,490	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Blue Socks	120		225	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	White Socks	60		225	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
<u> </u>	PSP Tie	30	to the seque	520	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
- 174	PSP Scarf	30		498	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
	Track Suit	30		4,500	2 nd Lowest
1 State of a	T-Shirt or	30.	Setting Cary days	1,045	2 nd Lowest
	Polo Shirt	30		1,145	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in
	Joggers	30		3,480	terms of cost Accepted as per PPRA



				Rule 36 (b) (ix) being most advantageous bid in terms of cost
13.1 M 13.1 M	30		195	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
Plume Shoulders with	30		580	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
Ranks	30		10,400	3rd Lowest
Oxford Shoes (Brown)	30	# # #	11,900	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in
DMS (Leather)	30		11,700	torms of cost
Brown Leather Belt	30		4,400	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous hid in terms of cost
(Brown)	30		2,250	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
Gloves (Brown) Horse Riding	30		2,398	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid in terms of cost
Crop (Brown) Horse Riding	3		2,398	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bld l
Helmet Horse Riding		0	24,80	Accepted as per PPRA Rule 36 (b) (ix) being most advantageous bid i
Horse Riding (Breeches)		50	3,40	terms of cost
			33,50	00 2 nd Lowest Accepted as per PPRA
Blue Patrol SD (Complete all respects of cloth, stitch buttons, bad ranks, mee name plate, arm badge, ti	in with hing lges, dals, flag,	30	35,9	Rule 36 (b) (ix) being most advantageous bid terms of cost

11. Most Advantageous Bidder:

S	Name of firm	Item	Quan tity	Unit price	Total	Aggregate Total
#	7 7 7 7 7	Uniform (Grey Shirt & Pants)	60	4,620	277,200	t Januari V
1.	1. M/s Saleem Trading Corporation	Uniform (Grey Shift & Falls)	30	5741	17,220	t Record Con
		Beret Cap with Budge	60	414	24,840	1,818,720
		Arm Badge (NPA) Shoulder Badge	60	74	4,440	
			30	1,144	34,320	
11		Stick Track Suit	30	4,244	127,320	



		T-Shirt	7	^ _		
		Oxford Shoes (Brown)			22 30,66	0
2.	M	Blue Patrol		0 9,9		0
٠.	M/s Oxford	Peak-Cap with Badge		0 33,4	- 100010	00
*	Trading	Name Plate	3		90 68,700	
. ,	Corporation	Pakistan Flag	- 60		- 0,700	
		Ranks	60	- /0	5,700	
-		Jersey (Black)	60	1	11,100	
1		Blue Socks	30		0 104,700	
1		White Socks	120		27,000	
1		PSP Tie	60	220	10,000	
		PSP Scarf	30	520		75
1.		Polo Shirt	30	498	17,740	7
		Joggers	30	1,145		
1	* 12*	Plume	30	3,480		
1	.55	Shoulders with Ranks	30	195	5,850	2055 50
		DMS (Leather) Brown	30	580	17,400	3,055,620
		Leather Belt (Brown)	30	11,900		
	[Horse Riding Gloves (Brown)	30	4,400	132,000	7
Ú.		Horse Riding Crop (Brown)	30	2,250	67,500	1
		Horse Riding Helmet	30	2,398	71,940	1
	1	Horse Riding Shoes	30	2,398	71,940	1
	<u> </u>	Horse Riding (Breeches)	30	24,800	744,000	
S w bi	SD (Complete in 11	30	3,400	102,000		
	SD (Complete in all respects with cloth, stitching buttons, padges, ranks, medals, name blate, flag, arm badge, tie & hirt)	30	35,900	1,077,000		

12. Any other document

0!													
Signature:		 	 										
000				٠.	•	•	٠.	•	٠.	•	٠.		•
Official Sta	amp:												

Shahid Siddique Assistant Director (S&H) (Member)

Khalid Mehmood Abbasi Deputy Director (Admn) (Member)

Naeem Ahmad Shaikh (PSP)

Deputy Commandant

(Chairman)